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Instructions:

1. This test contains two sections:
Section A: Questions 1 — 30
Section B: Questions 31 — 36

Answer ALL questions.

Write your answers on the answer sheet.

A

no need to rub it out after the test.
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7. The use of calculator is not allowed.
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Write your Name, Class and Class Number on the answer sheet.

You may do your rough work in the blank space of this test booklet and there is

6. You can use a pencil or a black/blue ball pen to answer the questions.
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Note:

Not all diagrams are drawn to scale.

section (.Y (60 marks)

Choose the correct answer. You only need to
write down the letter preceding the selected
answer.
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1. In the number 155 802, how many
times of the value of ‘8’ is that of

62’?
A. 4
B. 40
C. 100
D. 400

1. £ 155802z A%+ [8] #93fh

2 [2] 8% V452

A 4
B. 40
C. 100
D. 400

2. Find the L.C.M. of 30 and 45.

Hot A 15
B. 60
C. 90
D. 180

2. K30#/458 L.CM. o

@ A. 15

B. 60
C. 90
D. 180

3. Each packet of 5 apples cost $18.
@~ The pastry chef bought the greatest
\) number of apples with $350. If 4
apples were required to bake an apple
pie, how many apple pies could he

bake at most?

A. 4

B. 17
C. 23
D. 24

3. HRBEFRXAHSME £ $18

i“") AL S350 BB T M E R % 099
R o mRBE—MEIARIE A 41895
RoMWRSETHBERRKES VM@ ?

A 4

B. 17
C. 23
D. 24
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7. Winnie’s is 1.44 m tall and she is 7. B Y H144m EH G
0.16 m taller than Ken. David is 0.6 me &I ERLS0.18m °
0.18 m taller the.m Wl.nme. What is AP B EAR kS S A
the difference in height between AN
the tallest and the shortest among o
them?

A. 2cm A. 2cm

B. 18cm B. 18cm
C. 34cm C. 34cm
D. 36cm D. 36cm

8. A bag of flour weighs 2% kg. A bag 8. — %%\%n\f 2L kg —REEE
of sugar weighs 4% kg. How many 4o 8 kg o AR T 2280 % Y
times of the weight of the flour is that 1 ?
of the sugar?

6 6
AT AT
S S
B. 1 6 B. 16
7 7
C. 1 2 C. 1 3
3 3
D. 6 2 D. 6 3
9. There were 1.35 L of juice in a bottle. 9. —#EXTA 1.35L " DIk

Jenny and her brother drank some from
it. Jenny drank 0.21 L. The difference
between the amount of juice drunk
by Jenny and that by her brother was
0.12 L. How much juice was left at most?

A. 03L

B. 054L
C. 08IL
D. 1.05L

'ﬁlﬁl 5‘3&9% T — 3k, 4]‘)%{"%% 021 L~

Fed TR a4 £ 012 L B2 T 8
Rtw %K%V ?

A. 03L

B. 0.54L
C. 081L
D. 1.05L
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Section 0 (40 marks)

Working steps must be shown in answering
questions in this section unless specified
otherwise.
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31.

Sarah used two pieces of square
paper of the same size to form a little
house. She first folded one of the
pieces into a roof by following the
steps shown below.

31.
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(a) What fraction of the area of the
original piece of square paper was
that of the roof of the little house
formed? (Give the answer only.)

[2 marks]
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(a) B TA &) & AF R R IE 77 5 4Ky
mAEsIE? (RASHE
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[2 4]

(b) Sarah put the roof and the
remaining piece of square
paper together and formed
the little house as shown in
the above figure. If the side of
each piece of square paper was
12 cm, what was the area of the
little house formed?

[4 marks]

(b) ke 2 T A= T 64 iE 7 7 44
PR BE o de LB TR o e

REKEF T &KoGiE k2T
12 cm * #F R 89 B 65 @ A7 2
%2

[4 7]
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Paper 5

Hong Kong Attainment Test
&8 2RI

Pre-Secondary 1 Mathematics
h— AZBRIEHER

Mock Paper 5 #E#EE (R)

Answer Sheet ZEE#f

Name
£ (English) ()
Class Class No.
MR IR
Total Marks
e

You only need to write down the letter preceding
(60 marks)  the selected answer. (2 marks each)

(GIEB (605) ThEREEFRESENNALTE - (§H25)
1. 6. 11. 16. 21. 26.
2. 7. 12, 17, 2. 27,
3. 8. 13. 18. 23. 28.
4. 9. 14. 19. 24. 29.
5. 10. 15. 20. 25. 30.
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. Working steps must be shown in answering questions
Section 0 (40 marks) in this section unless specified otherwise.

(AER (105) musplEss  EOASBEES A5 ESE -

31 (a).

31 (b).

32 (a).

32 (b).

32 (c).

REH -

Teacher’s use only

HAMER

Marks
&2
The area of the roof is of that of the
original piece of square paper.
JBTE 09 A S R R IE 75 T g °
2
4
4
The park is to the of the reservoir.
ON T A2 K VB 0 7o
2
He paid
W AAAL S o
2
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[2009 £ ~ 2006 FEER] F—
KBRS S EEE
A. 159 000 000  B. 159 400 000 +EMES  BRTNRAA
B\ ; n °
C. 160 000 000  D. 200 000 000 VDA
\_ _J

® TEBFRHFHAREARLI20942 - T LB EMFLHHEFHRE
A deBHEETA 0 B S Y 2 (2018 EER]

A. 60 000 B. 60 400 C. 60 500 D. 61 000

@ 986593V &Zmk % VAt — B g ? [2015 FfEE]
A. 13 407 B. 13 417 C. 14 407 D. 14 417

® £ 36146750 3@ » WA [6] 9B A £ % ) 2 [2014 FRER]

A. 0 B. 594 000
C. 5004 000 D. 5994 000
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